

26) a)  $6x_{n+2} = 5x_{n+1} - x_n$ ,  $x_0 = 5$ ,  $x_1 = \frac{13}{6}$

$6t^2 = 5t - 1 \Rightarrow 6t^2 - 5t + 1 = 0 \Rightarrow t_1 = \frac{1}{2}$   
 $t_2 = \frac{1}{3}$

$x_n = c_1 \left(\frac{1}{2}\right)^n + c_2 \left(\frac{1}{3}\right)^n$ ,  $n \in \mathbb{N}$

$5 = c_1 + c_2$

$\frac{13}{6} = \frac{c_1}{2} + \frac{c_2}{3} \quad | \cdot 6 \Rightarrow 13 = 3c_1 + 2c_2 = 10 + c_1 \Rightarrow c_1 = 3$   
 $c_2 = 2$

$x_n = 3\left(\frac{1}{2}\right)^n + 2\left(\frac{1}{3}\right)^n$

гмн? . . . .

б)  $\lim_{n \rightarrow \infty} \frac{x_n}{5 \cdot \left(\frac{1}{2}\right)^n + 3 \cdot \left(\frac{1}{4}\right)^n} = \lim_{n \rightarrow \infty} \frac{3 \cdot \left(\frac{1}{2}\right)^n + 2 \cdot \left(\frac{1}{3}\right)^n}{5 \cdot \left(\frac{1}{2}\right)^n + 3 \cdot \left(\frac{1}{4}\right)^n} \cdot \frac{12^n}{12^n} =$   
 $= \lim_{n \rightarrow \infty} \frac{3 \cdot 6^n + 2 \cdot 4^n}{5 \cdot 6^n + 3 \cdot 3^n} \cdot \frac{1}{6^n} = \lim_{n \rightarrow \infty} \frac{3 + 2 \cdot \left(\frac{2}{3}\right)^n}{5 + 3 \cdot \left(\frac{1}{2}\right)^n} = \frac{3}{5}$

в)  $\lim_{n \rightarrow \infty} \sqrt[n]{\frac{x_n}{5 \cdot \left(\frac{1}{2}\right)^n + 3 \cdot \left(\frac{1}{4}\right)^n}} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{3 \cdot \left(\frac{1}{2}\right)^n + 2 \cdot \left(\frac{1}{3}\right)^n}{5 \cdot \left(\frac{1}{2}\right)^n + 3 \cdot \left(\frac{1}{4}\right)^n}} = 1$

$\varepsilon = \min\left(1 - \frac{3}{5}, \frac{3}{5} - \frac{1}{2}\right)$   
 $\exists n_0 \forall n \geq n_0 \quad y_n \in \left(\frac{3}{5} - \varepsilon, \frac{3}{5} + \varepsilon\right) \subseteq \left(\frac{1}{2}, 1\right)$

$\lim_{n \rightarrow \infty} \sqrt[n]{a} = 1, \quad a > 0$

$\Rightarrow n \geq n_0 \quad \frac{1}{2} < y_n < 1 \rightarrow \sqrt[n]{\frac{1}{2}} < \sqrt[n]{y_n} < \sqrt[n]{1}$   
 $\downarrow \quad \downarrow \quad \downarrow$   
 $1 \quad \quad \quad 1$

24.  $a_n = a \in \mathbb{R}$

$a_{n+1} - 2a_n + a_n^2 = a_n(2 - a_n)$

Используя те же рассуждения, что и в задаче 23.

1°  $a = 0$  или  $a = 2 \Rightarrow a_n = 0 \quad n \geq 2 \Rightarrow a_n$  const.

2°  $a > 2$  или  $a < 0 \Rightarrow a_2 < 0$

$\Rightarrow \forall n \geq 2 \Rightarrow a_n < 0$

$\frac{a_n}{a_{n+1}} = \frac{a_n}{2a_n - a_n^2} = \frac{1}{2 - a_n} < 1 \quad | \cdot a_{n+1} < 0 \Rightarrow a_n > a_{n+1} \Rightarrow a_n \downarrow, \quad a_n < 0$

$$\Rightarrow \lim_{n \rightarrow \infty} a_n = x \in \mathbb{R} \quad \text{или} \quad \lim_{n \rightarrow \infty} a_n = -\infty$$

$$\text{Пп. } \lim_{n \rightarrow \infty} a_n = x = \lim_{n \rightarrow \infty} a_{n+1} = \lim_{n \rightarrow \infty} 2a_n - a_n^2 = 2x - x^2 \Rightarrow x = x^2 \Rightarrow x = 1 \quad \text{или} \quad x = 0$$

$$x \neq 1 \text{ жеп } a_n < 0 \quad \forall n \in \mathbb{N}$$

$$x \neq 0 \quad a_n < 0 \quad \text{и} \quad \underline{a_n \downarrow}$$

$$\Rightarrow \lim_{n \rightarrow \infty} a_n = -\infty$$

$$3^\circ \quad a \in (0, 2) \quad \left[ \right.$$

$$a_2 = a \cdot (2 - a) > 0$$

$$\text{Жа } n \in \mathbb{N} \quad a_n \in (0, 2) ?$$

$$(5\text{u}) \quad n=2 \quad a_2 = a \cdot (2 - a) > 0 \quad , \quad a \in (0, 2) \quad \checkmark$$

$$a_2 < 2 ?$$

$$2a - a^2 < 2 \quad \leadsto \quad 0 < 2 - 2a + a^2 = 1 + (1 - a)^2 \quad \checkmark$$

$$a_2 \in (0, 2)$$

$$(н\kappa) \quad n \in \mathbb{N} \quad a_n \in (0, 2)$$

$$a_{n+1} = a_n(2 - a_n) > 0$$

$$2 - a_{n+1} = 1 + (1 - a_n)^2 > 0 \quad \Rightarrow \quad a_{n+1} \in (0, 2)$$

$$\Rightarrow a_n \in (0, 2)$$

$$a_n - a_{n+1} = a_n^2 - a_n = a_n(a_n - 1) \stackrel{a_n < 1}{\uparrow} < 0 \quad \leadsto \quad \text{забудем о } a_n \text{ и } 1.$$

$$a \in (0, 1) \Rightarrow a_n \in (0, 1) \quad n \in \mathbb{N}$$

$$a_1 = a \in (0, 1)$$

$$n \in \mathbb{N} \quad a_n \in (0, 1)$$

$$1 - a_{n+1} = 1 + a_n^2 - 2a_n = (1 - a_n)^2 > 0$$

$$a_{n+1} \in (0, 1)$$

$$\Rightarrow a_n \in (0, 1) \quad \text{и} \quad a_n \uparrow \quad \Rightarrow \quad \text{конвергенция } x = \lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} a_{n+1} = 2x - x^2$$

$$x^2 = x \quad \Rightarrow \quad x = 1 \quad \text{или} \quad x = 0$$

$$a = 1 \Rightarrow a_{n+1} = 1 \Rightarrow a_n \text{ константная}$$

$$\lim_{n \rightarrow \infty} a_n = 1$$

$$a \in (0, 1) \Rightarrow a_n \in (0, 1) \quad a_n \uparrow \quad \Rightarrow \quad \lim_{n \rightarrow \infty} a_n = 1$$

$$a \in (1, 2) \Rightarrow a_n \in (1, 2) ?$$

$$a_n \in (0, 2), \text{ γνωστός υποκατάσται } a_n > 1$$

ΠΜΜ ...

$$a_n > 1 \Rightarrow a_n - a_{n+1} > 0 \quad \checkmark$$

$$a_n \downarrow, a_n \in (1, 2)$$

$$\Rightarrow x=0 \text{ ή } x=1 \dots$$

$$a_{n+1} = 2a_n - a_n^2$$

$$a_1 = a \in (1, 2)$$

$$\underbrace{2a_n - a_n^2}_{a_{n+1}} - a_n = a_n - a_n^2 = a_n(1 - a_n) < 0 \Rightarrow a_n \downarrow$$

$\downarrow$   
 $a_n > 1$

$$\Rightarrow \lim_{n \rightarrow \infty} a_n = 1$$

$$A, B \subseteq [1, +\infty)$$

$$C = \frac{A}{B} \Rightarrow \sup C = \frac{\sup A}{\inf B} = \frac{x}{y}$$

$\varepsilon_1 > 0$

$$\exists a \in A \quad a > x - \varepsilon_1$$

$$\varepsilon_2 > 0 \quad \exists b \in B \quad b < y + \varepsilon_2$$

$\varepsilon > 0$

$$\exists c = \frac{a}{b} \quad ? \quad c > \frac{x}{y} - \varepsilon$$

$$1 - \frac{\varepsilon_2}{y + \varepsilon_2}$$

$\wedge$

$$\frac{a}{b} > \frac{x - \varepsilon_1}{y + \varepsilon_2} = \frac{x}{y + \varepsilon_2} - \frac{\varepsilon_1}{y + \varepsilon_2} = \frac{x}{y} \cdot \frac{y}{y + \varepsilon_2} - \frac{\varepsilon_1}{y + \varepsilon_2}$$

$$= \frac{x}{y} - \left( \frac{\varepsilon_2 \cdot x}{(y + \varepsilon_2)y} + \frac{\varepsilon_1}{y + \varepsilon_2} \right) \stackrel{\text{H}}{\geq} \frac{x}{y} - \varepsilon$$

$$\varepsilon_1, \varepsilon_2 = ?$$

$$\frac{\varepsilon_2 x + y \varepsilon_1}{y \cdot (y + \varepsilon_2)} \leq \frac{\varepsilon_2 x + y \varepsilon_1}{y^2} \stackrel{\text{H}}{\leq} \varepsilon$$

$$\varepsilon_2 x \leq y^2 \varepsilon - y \varepsilon_1$$

$$0 < \varepsilon_2 \leq \frac{y^2 \varepsilon - y \varepsilon_1}{x} = \frac{y}{x} (y \varepsilon - \varepsilon_1)$$

$$\varepsilon_1 > 0$$

$$\frac{y}{x} \cdot (y \varepsilon - \varepsilon_1) > 0$$

$$\varepsilon_1 = \frac{1}{2} y \cdot \varepsilon > 0 \quad \rightarrow a$$

$$\varepsilon_2 \leq \frac{y}{x} \cdot \frac{1}{2} y \cdot \varepsilon \quad \rightarrow b$$

$$\varepsilon_2 = \frac{y^2 \varepsilon}{2x} > 0$$

$$c = \frac{a}{b}$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} + \dots + \frac{1}{n} = \ln 2$$

$$a_k \leq e < b_k$$

$$\left(1 + \frac{1}{k}\right)^k \quad \left(1 + \frac{1}{k}\right)^{k+1} \quad k \in \mathbb{N}$$

$$k > 1$$

$$\frac{1}{k+1} < \ln\left(1 + \frac{1}{k}\right)$$

$$k \left(1 + \frac{1}{k}\right) < \frac{1}{k} < \ln\left(1 + \frac{1}{k-1}\right), \quad k > 1$$

$$\downarrow \quad \downarrow$$

$$k \in \mathbb{N} \quad k > 1$$

$$< 1 + \frac{1}{2} + \dots + \frac{1}{n} < 1 + \ln(1+1) + \dots + \ln\left(1 + \frac{1}{n-1}\right)$$

$$e - x_n = e - \left( 1 + \frac{1}{1!} + \dots + \frac{1}{n!} \right) < \frac{1}{n \cdot n!} < \varepsilon$$

$\varepsilon > 0 \quad \exists n \in \mathbb{N}$

$$\frac{1}{n \cdot n!} < \varepsilon$$

$$\frac{1}{2 \cdot 2!} > \varepsilon$$

↓  
0

$$\frac{1}{n \cdot n!} < \frac{1}{n} < \varepsilon \rightarrow n = \left\lceil \frac{1}{\varepsilon} \right\rceil + 1$$